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5. If the density of a liquid is 835kg/m?, find its specific weight yand specific gravity s.
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7. A fluid is filled between two parallel flat plates separated 5mm apart. The fluid has viscosity of 1.242X
103pPa-s and specific gravity 0.789. Calculate the kinematic viscosity v. Then, assuming a straight-line velocity
distribution, calculate the velocity gradient between two parallel plates, one moving with the speed of 2m/s
relative to the other, and the shear stress zon the flat plate.
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11. For the configuration shown above, calculate the weight of the piston if the gage pressure reading is 70kPa.
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14. Astone weighs 600N, and when it was lowered into a square tank 0.610m on a side, the weight of the stone in
water was 323N. How much did the water rise in the tank?
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18. A gas flows through a square conduit. At one point along the conduit, the conduit sides are 0.100m, the
velocity is 7.55m/s, and the gas’s density is (for its particular pressure and temperature) 1.09kg/m®. At a second
point, the conduit sides are 0.250m and the velocity is 2.02m/s. Find the mass flow rate M of the gas and the gas’s

density at the second point.
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21. Oil with a specific gravity of 0.87 is flowing in the pipe (see below). The pressure at point 1 is 500kPa. If the
head loss from point 1 to point 2 is 5.00m of oil and the discharge of the oil is 0.050m%/s, determine the pressure

at point 2.
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